=
o

A
[E

evt

(1/N ) dN /dE [GeV]

=
<
[

[EEY

Ratio to ATLAS

7000 GeV pp tt
I L L B N B ]
= E(\% (ATLAS KS andA in ttbar) =
—  m  ATLAS n
~  --8-- Pythia 6.428 391 .
| - %-- Pythia 6.428 393 —
— ---e-- Pythia 6.428 394 -
- ¥ Pythia 6.428 395 ]
- I’\ —
- " =
— ‘!\ ]
B m " oy i
— | ,Q;!; = —
— - Tisia o -
B e ]
- [ | ]
e e ]
E /I/ ‘1' '!-'-L'..'_'l_'.l ~.. E
— 3 R4 e .
= ’f vl TR, E
| "‘ ._i"; = \:i_g —
m ) I
- '/.' —]
N ]
I ]

1 1 1 1 | 1 1 1 1 | " 1 1 1 1 | 1 1
10 20 30

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


